Maisonette in Msida



Reference No: 240221049-50

Msida, Sliema and St Julians Surroundings



€270,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 99

Bedrooms: 2

Maisonette - For Sale - Msida

Msida - Located very centrally and close to all amenities, comes this spacious and furnished ground floor maisonette. On entry, one will find a sizable kitchen/living/dining open plan followed by 2 well-sized bedrooms (main with en-suite facilities and the other with access to the backyard), a guest bathroom and a backyard. This maisonette is being sold furnished, however, there is an option to have it as unfurnished as well. This property is ideal as a rental investment (due to its strategic location) and even for first-time buyers looking to start off. Get in touch with your RE/MAX agent of choice now to schedule a viewing!

Features

- ✓ Kitchen/Dinette
- Electricity Utility
- Yard

- En Suite
- ✓ Wi-Fi
- Back Yard

Rooms

- ✓ Kitchen/Living/Dining: 10 x 3.8 m (38 m2)
- ✓ Hallway : 3.5 x 1.3 m (4.55 m2)
- ✓ Double Bedroom : 4.7 x 2.7 m (12.69 m2)
- ✓ Double Bedroom : 4.6 x 3.5 m (16.1 m2)
- ✓ Bathroom : 2.22 x 2 m (4.44 m2)
- ✓ Shower Ensuite : 2.1 x 2 m (4.2 m2)
- Open Space : 3.14 x 4.31 m (13.53 m2)

Gallery









Miguel Borg RE/MAX Excellence - Piazzetta

M: 79081998

E: miguelb@remax.com.mt

T: 21341341

RE/MAX Excellence - Piazzetta 114B,Tower Road, Sliema, Malta